2 ZCAE Rk
Code CMarkdownZ1ZIRLE T

szt (8)=2x+{8) £EFT 2
H=t ($)=2+ §8) £ =TT 5

ZOEEESY U

By =2x + | ZRRI D

BRELLTHRMIICRTR

2
y=2x+1
w9 D



¥, /\JaAVIZEoTIENERT

_ 2
Sy=x"2% y=Xx
Sy=x"{z+1]§ y = x7+!
$y=¥frac {1} {3} x$ y = %x
$ y=sin2rx
y=¥sin2¥pi¥¥ = oo
y=¥C0S2¥p i ¥¥ y = Cos on
y=¥tan¥theta y=tanéf
$

y=1/3x2+1
$y=¥sqrt {3x"2+1}$

— 1
Y= 3x

$y=¥sqrt (¥frac {1} {3x}}$



$$
¥s

¥sum_{i=1} "¥infty a_k 2¥¥

$3

um_{i=0} "n¥¥

!

n

i=0
o0

2
ay

i=1

$
¥lim_{n ¥to 0] f(x)

$
U

lim, o f(x)

$$
y=¥ |ogx¥¥
y=¥ |n3x

$3
y = logx
y = In3x

$$

f(x)¥¥

T (x) ¥¥
¥frac (dy} {dx]

$$
f(x)
[ (%)
dy

dx

$$

¥int_a'b f(x) dx ¥¥
¥11int_D dx ¥¥
¥111nt_ D dx

§
b
/ f(x)dx

/] ax
[//Ddx



o O -
o - O
—_— O O
=<

— i S —_—
S S >
|—L f—
o O O —
= =t
— od of o O
- =
—_—0 —0 =
=T ]

1751

|

o — D o - O
—_— O O — O O
o _—_ | |
=< <

S S < S S
PHSH = S %H% -
(4% ] | - (4% ] L.
Eo o — Eo o —
(o] 4y} O o
— od od o E 2 of of oF £
- O - ]
—_O O —O0O—O=
=14 ] [=T4] -]

A



¥mathbfl AR } —XKF

= —ar
Y=

§$
y=¥color {red} {¥frac {3} {4} ] ¥mathbf [¥pi r 3} ¥¥
y=¥sqrt ¥color {blue} (¥frac {1} {¥mathit {ax+] 1

ﬂ.t+}‘\

¥mathit{f AE | <A431)v9

¥colorl 8 H RZAE |} —BDIEE




